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= = 4 kel | =5t s 37|
1. $Z7| HYEZ mH
MAIN ROPE D12X674,L=99m | m 1025 1(#3) ,1115(#18) , 117 (#24)
MAIN ROPE ©12X54,L=99m | m 1025 2(#4)
MAIN ROPE ®12X67,L=110m | m 104=1(47)
MAIN ROPE ®12X7A4,L=113m | m 105Z2(#10)
MAIN ROPE ®12X6A,L=102m | m 110=(#17) ,113S(#20)
MAIN ROPE ®12X7A4,L=116m | m 12151(430) 12152(#31) 127511242 127520543) 128 1(344) 128521 425)
MAIN ROPE ®12X64,L=107m | m 124=1(#36) , 1295 1( #46)
MAIN ROPE ®12X54,L=104m | m 1265 2(#41)
MAIN ROPE ®12X54 ,L=107Tm | m 120=2(#47)
MAIN ROPE ®12X6&,L=113m | m 1395 1(#60)
2. 7t W45 B|&tE HiE2] 1|
FhHF v &S BiE{ 2] B E{ 2| EA 12 106S1(#11) ,107S1(#13) , 1265 2(#41)
3. Botx| x| wAH (ES=Y =)
ot X| EHR| LWR-1261 4 1 1213 2(#31)
4. FHH R 2UEE X}7|
™ ESHER| XD FX004C850G01 EA 1 1105 (#17)




